Number and Place Value

Green

Complete the table below by
writing the total value of the tens

Sienna is thinking of a 2-digit num-
ber that falls on this number line

What could Sienna’s number be?

and ones.
Tens Ones Total
o0 o0
o0 o0
o0 o0
o0 00 ()
o0 oo (]

| | [ [ |
70 80 90 100

! ! ﬁMy number is odd. It has fewer tens ihan}

ones.

Match the pairs together to make

(M) (1
|

]

Isobel has represented a number
in different ways.

Which is the odd one out? Explain

your choice.
an
an
an
II

40 + 7

Chris and Dylan are making the
number 23 on a place value chart.

True or false? Each sequence is

oooooon
ordered from smallest to greatest.

Q 4 We need to take 10 Tens Ones
away.

Chris

[ We need to add 10. L H |
T 3
N

Dylan
Who is correct? Explain how you know.

" LI 11111
ae

®
®
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Number and Place Value

Green

Various answers, for example:
13, 25, 29, 37, 45, 57.

50, 35, 23
Tens Ones Total

| | [ [ |
70 80 90 100

! ! ﬁMy number is odd. It has fewer tens ihan}

ones.

Aand 2; B and 1

[l

B is the odd one out as it
represents 68, whereas all the
others represent 47.

(M O

HEHE IHHEE

Dylan is correct because the
number represented on the
place value chart is 13 and 10
would need to be added to
make 23

o]e[e[e]e[e]®
0 + 7

False. Sequence A has a 6 in the

wrong place.

" LI 11111
ae

Q 4[ We need to take 10 J Tens Ones
away.

Chris
We need to add 10. L ', .‘ |
O U
-~

Dylan
Who is correct? Explain how you know.
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Number and Place Value

Yellow

Complete the table below by
writing the total value of the tens

Tilly is thinking of a 2-digit number
that falls on this number line.

What could Tilly’s number be?

and ones.
Tens Ones Total
()
o,o o 0
o0 oo .. L
0 00 oo
o0 00 oo

60

[ |
80 100

T

My number is even. It has fewer than 5
tens but more than 3 ones.

Jake has represented a number in

Match the pairs together to make

63.

N\ N e ~
10 10
10 10 10 2 tens
10 10 10
J . J . J
. 3.
N\ N\ N
10 (10 1 10 1 1
13 ones
10 (100 1 10 10 1
J J

Bob and Ross are making the
number 55 on a place value chart.

different ways.

your choice.

20

Which is the odd one out? Explain

35 + 30

True or false? Each sequence is
ordered from smallest to greatest.

Ii :I<[ We need to add 10. ’
-

Bob
‘ We need to add 1. L h
O

Y
Ross

Who is correct? Explain how you know.

Tens

Ones

51

82

50

1010ll
11

seven

twelve

34

68

101090 1
101090 1
10




Number and Place Value

Yellow

Aand 3; Band 1; C and 2

85, 33, 59 Various answers, for example:
14, 18, 24, 26, 34, 48.
Tens Ones Total
oo e oo ° | [ I | | I I I [ |
oo oo oo o 0 10 20 40 50 60 80 100
‘ ‘u‘ﬁ My number is even. It has fewer than 5 }
tens but more than 3 ones.

B is the odd one out as it repre-
sents 56, whereas all the others
represent 65

A N N\ S 3
00 0 2 tens
k J @6 ®) ( )
[ N 2 Ns'f )
13 @ G0 1 @ 1
onhes
\_ J \.. ! ]J ’ . ! J

Bob is correct because the
number represented on the
place value chart is 45 and 10
would need to be added to
make 55.

I; ;' 4 We need to add 10. ’ Tens Ones
=

Bob

[ We need to add 1. Lﬁ“ ||I|
N

Ross
Who is correct? Explain how you know.

35 + 30

False. Sequence B is ordered
from greatest to smallest.

an IIIlII

seven

29
B.
2 (L] Jees
a

twelve

B = | e




Number and Place Value

Red
Complete the table below by Eva is thinking of a 2-digit number
writing the total value of the tens that falls on this number line.
and ones in words What could Eva’s number be?
Tens Ones Total
o0 00 00 || ol
o0 00 00 0]
o0 00 00 @
o0 00 00 |
o0 00 00 | |
:: 100
ol B M B EBER
oo x
My number has an even number of tens
and an odd number of ones. The sum of
TR |
Kirk has represented a number in
Match the pairs together to make different ways
62. Which is the odd one out? Explain
your choice.
A. B. p N C.
I (oo ] ()| 290mes * S@006
ree rens
J L ) 29 ones oIl
1. N 2_( N 3. < ‘ 1 ‘ 1
10 twenty-two 33 36
[ 10 10 || 12 ones [ ones c. D. 30 + 48
J L J
Lucas and Oliver are making the True or false? Each sequence is
number 46 on a place value chart. ordered from greatest to smallest.
A.
- 4 We need fo add 16 ones. o s "":::: five tens l"” 2fensand | yee
Lucas B.
( Wenzﬁ:iéo;‘iiﬂen L : ||| se‘:)ir:y- 57 1]‘:2:::’ || 16
0;;/9[ c. 01 11
Who is correct? Explain how you know. 25 threetens | 1 1 1 1 forty-five 99
0 1 1 1 1




Number and Place Value

Red

fifty-three, sixty-six, ninety-nine

Tens Ones Total

Various answers, for example:
29, 47, 65, 83.

100

S My number has an even number of tens
and an odd number of ones. The sum of
its digits is 11.

Aand 3; Band 1; C and 2

D is the odd one out as it repre-
sents 78, whereas all the others
represent 69.

Who is correct? Explain how you know.

We need to add 1 ten
and 6 ones.

L@

Oliver

. C.
W) [ ] ()| 290nes * S@0oe
three tens ' '
2 » ©®9 @
( 0 || 1 ( | [fweniy-iwo\ 33 36
12 ones C. D. 30 + 48
. 0 10 I ) ones
They are both correct because False. Sequence C is ordered
16 ones and 1 ten and 6 ones from smallest to greatest.
represent the same number. The
number represented on the
place value chart is 30, so add- A p——
ing either would make 46. "" wetens | JREI] | *Sones | e
B.
- 1t d
giWe need to add 16 ones.} Tens Ones se;i':y ¥ ]:2:25 || 16
C.
Lucas 0004 .
25 three tens :: : : : forty-five 99




